
123

E101,E102

07/12/2013

09/11/2013

I
T

C

OC

LEETSFO

R
T

S
N

ENGINEER

CONTRACTOR*
1291DED

N
O

M
A

NUOF
*

ETUTITSNI
N

A U

WELD ROD

DISTANCE
EDGE

R
EV

IS
IO

N
S

CI
R

E REV.DRAWING NO.

REF. DWG.

APPROVAL

FIELD
SHOP

JOB ORDER NO.ARCHITECT
DRAWN BY

DATE

DATEOF HOLES

CHECKED BY

PREP

PAINT

DFT

NO PAINT WITHIN

HOLES

STEEL 1

EOP

MASON & HANGER

D.W.WILBURNBEAM DETAILS

13/16 Ø UNO

 AS NOTED

 E70XX

 A36 (U.N.O)

1-S/C PRIMER PER SSPC-25

GS REF./ REMARK

BILL OF MATERIAL

LENGTHDESCRIPTIONMARKQUAN MARK 
FAB

1 W16X36 25'-10 3/8" (A992)123B1
a1372 L4X3-1/2X5/16 0'-11 1/2"

a2321 L8X4X1/2 25'-6 1/2"

p4841 PL1/2"X6" 0'-11 1/2"

1 W14X22 15'-10 9/16" (A992)123B2
a2331 L8X4X1/2 15'-2 7/8"

p1461 PL3/4"X14 1/4" 1'-9"

p1471 PL3/4"X14 1/4" 1'-8 15/16"

p4801 PL1/2"X6" 2'-3 1/2"

p4811 PL1/2"X6" 2'-1 1/2"

1 W14X22 16'-0" (A992)123B3
a2762 L4X3-1/2X5/16 0'-8 1/2"

bnt241 PL3/8"X7 3/4" 6'-5 3/4"

bnt1511 PL3/8"X7 3/4" 9'-8 7/8"

1 W14X22 13'-0 1/8" (A992)123B4
a2764 L4X3-1/2X5/16 0'-8 1/2"

bnt591 PL3/8"X8 1/2" 3'-9 5/8"

bnt701 PL3/8"X7 3/4" 10'-0"

1 W12X14 15'-10 9/16" (A992)123B5
a2764 L4X3-1/2X5/16 0'-8 1/2"

bnt421 PL3/8"X8 1/4" 6'-4 3/4"

bnt1281 PL3/8"X8 1/4" 10'-0"

m15016 STUD_1/2-DIA 0'-5"

BOLT 3/4"DIA A325 TC 1"3/49 Site
BOLT 3/4"DIA A325 TC 2"32 Site

BOLT 3/4"DIA A325 TC 2"1/422 Site
BOLT 3/4"DIA A325 TC 2"3/46 Site

THREADED ROD 5/8X6"41 SiteASTM A193, GRADE B7

09/11/20131 For Fabrication

QTYSEQ
1 1

26 THREADED ROD 5/8X6"
6 BOLT 3/4"DIA A325 TC 2"3/4

10 BOLT 3/4"DIA A325 TC 2"1/4

ONE - BEAM - 123B1

E
L1

13
'-6

1 2/

3
3

41
2/

3

13'-238/12'-9

25'-1138/  (W16X36 x 25'-1038/ )

234/

3
3

3
3

21
5 16/

512/

25@1'-0 718/

A

A

BB

(26'-4)

(T&B)

a137 (B/S)

14/
3 SIDE 

14/
14/

 
 

2916/ GOL
512/ C/C

1316/ "x1

GA 312/
(CTR'D)

1316/ "x1

a232

p484

(-438/ )

12/CUT SQ .

234/

12'-534/RD

314/

(-14/ )

12/CUT SQ .

3
3

3
3

31316/

31316/

3 4/
3 4/

B - B

21
2/

4

778/

14/ 2"@8"
14/ 2"@8"

a232

A - A

QTYSEQ
1 1

15 THREADED ROD 5/8X6"
26 BOLT 3/4"DIA A325 TC 2"

ONE - BEAM - 123B2
21

2/

15'-11916/  (W14X22 x 15'-10916/ )

10'-4316/

14@1'-0

3
2

3
3

3
3

3
3

5
3

3 
2

3
3

3
3

EE

D

DCC

(-14/ )
(-316/ )

(16'-0)

38/
38/

 TYP.

14/
 TYP.

GA 312/
(CTR'D)

1316/ "x1

GA 312/
(CTR'D)

1316/ "x1

p480

p146
CTRD

p147
CTRD

p481

a233

71
8/

12/ CUT SQ.

378/

E
L1

13
'-6

1 2/

1'-2RD

11516/

71
8/

10'-01516/ 512/

12/CUT SQ .

5'-738/

14'-858/

1114/

234/ 234/

3
3

3

1

1'-558/

a233
C - C

778/

4
21

2/

18/ 14/ 2"@8"
14/ 2"@8"

a233

D - D

QTYSEQ
1 1

6 BOLT 3/4"DIA A325 TC 2"1/4
3 BOLT 3/4"DIA A325 TC 1"3/4

ONE - BEAM - 123B3

4

51
2/

NO PAINT ON
INSIDE FACE OF
BENT PLATE.

14/ 2"@8"
14/ 2"@8"

bnt24

F - F

3516/

11
4/

17
16/

2

234/234/

8'-01116/ 7'-111316/

12/234/
2116/

16'-012/  (W14X22 x 16'-0")

7'-91516/RD 512/

3
3

41
2/

E
L1

13
'-6

1 2/

9'-61316/

3
3

3

3
3

3

F

F NO PAINT
ON TOP FLG.

(TYP.)

(16'-138/ )
(-316/ )

a276 (B/S)

14/
3 SIDES

bnt151 (F/S) bnt24 (F/S)

 
 

2916/ GOL
512/ C/C

1316/ "x1

QTYSEQ
1 1

6 BOLT 3/4"DIA A325 TC 1"3/4

ONE - BEAM - 123B4

25
8/

778/

bnt59

G - G

234/12/

6'-578/6'-714/

13'-118/  (W14X22 x 13'-018/ )

12/

6'-4 512/ 9'-1112/RD

3
3

3

3
3

3
E

L1
13

'-6
1 2/

3
3

3

GG

H

H

(-18/ )

(TYP.)

(-18/ )
(13'-138/ )

NO PAINT
ON TOP FLG.

a276 (B/S) a276 (B/S)

14/
3 SIDE TYP.

bnt59bnt70 (F/S)

 
 

2916/ GOL
512/ C/C

1316/ "x1

 
 

2916/ GOL
512/ C/C

1316/ "x1

11
4/

234/234/
258/

11
8/

1

51
2/

4

NO PAINT ON
INSIDE FACE OF
BENT PLATE.

14/ 2"@8"
14/ 2"@8"

H - H

QTYSEQ
1 1

6 BOLT 3/4"DIA A325 TC 2"1/4
6 BOLT 3/4"DIA A325 TC 2"

ONE - BEAM - 123B5

4

51
2/31

2/

NO PAINT ON
INSIDE FACE OF
BENT PLATE.

14/ 2"@8"
14/ 2"@8"

316/
 TYP.

J - J

15'-11116/  (W12X14 x 15'-10916/ )

9'-6716/RD

14@1'-0=14'-0

3

31
2/

3
3

3

J

J

NO PAINT
ON TOP FLG.

(16'-0)
(-18/ )

(TYP)
a276 (B/S) a276 (B/S)

14/
3 SIDE TYP. 

 
2916/ GOL
512/ C/C

1316/ "x1

 
 

2916/ GOL
512/ C/C

1316/ "x1

bnt128 (F/S) bnt42 (F/S)
m150
(TYP)

E
L1

13
'-6

1 2/

12/ CUT SQ.

11
8/

3116/

3
3

3

5916/

111516/

11
4/

58/

12/CUT SQ.

1058/

1

1'-558/

E - E




